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i 7).
Choose the appropriate figure from the{&nswer Figures to replace the question mark (7)
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oose the appropriate figure from the Answer Figures to replace the question mark (?).
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3. .ﬁwﬁ?ﬂa%%@,ﬁmﬁw%ha@} “HEeg
Aa) frpe B) THWT () weEw (D)
PIANO is to MUSIC, then what is to LITERATURE ? '
.(A) CRICKET (B) MICROPHONE (C) ARTIST . D) I;OETRY
4. WG I :
ifefea ifear : = - wHifcanfere = j '
(A) e @) & © @ (D) ¥%3
Complete the analogy : < ] e :
'Otitis media' : 'ear' :: 'Cataracts' : i ® , :
(A) Bone - (B Kidneyg; (C) Eye " (D) Lungs
7%49%%%,3%9%@%@%:%
7 is related to 49, in the same way 9 is related to : i
(a) 22 0B 8l © 77 O 65
aﬁmwﬁﬁv@;@ﬁ?m@@mﬁ‘léd%ﬂwwaﬁiﬁmwﬁ%&ﬁmﬁﬁgm@%
TR T e TR | CTET e b 3 ’
@ R @UF Q) ey oy
H Wh icfl \;vay would ’you face now if you turned 180 degrees to the left éﬂer 'stai'ting by facing s ol 2 .

N X ‘ 1 1./y § “
(A) West (B) North (© South’ '/ *pylg.a
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A) 2.5% $h
;hl . "b B) 28% © 30% (D) 3.5%
given bar graph shows the marked price of five different products in a showroom. i
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If the marked price of the laptop'i§ 15% more than ) cost price and the shopkeeper offers a discount of
10% on the marked price of the 1apjop, then find the profit % of the laptop.

(A) 2.5% (B) 28% 30% . (D) 3.5%

; : AN
8. 3w, aagéwtamamm%lﬁmmm%mas@ﬂmﬂfmﬁ%@m%m% V125 km @A |
T ST BT 0T 35 HC 5 ken ST-ARRATH | STR07 7 T 34 o o & 130 FuTH & 2 ‘
(A) <fqurafam (B) SuL-UEM (©) sRorgE (D) SWgE
Arun wants to go to Anu’s home. Anu’s home is 5 km North-West of Priya’s home which is
4/12.5 km East of Tharun’s home. Tharun’s home is 5 km North-West of Arun’s home. In which direction

is Arun’s home from Anu’s home ?
(A) South-West (B) North-West (g) South-East (D) North-East

{

o, Pt war f, oY Ry e YT 35 A = 3 A R e & | e & O e oy g 91 3 7
JUT Sk TR ST ST Eehd | IR A TEAC P
fiam e w7 : "INDEPENDENCE" S | 2
(A) NEEDED, (B) INDEED - EENAD /(D) DENIED
In the f(;li().wing. question, you will find four oth.er )'ds provxdfed alongside a given word. On¢ of these
words cannot be formed using the letters of the glven@ord. Identify that word. /

Given word : "INDEPENDENCE" .
(A) NEEDED (B) INDEED (C) PEENAD (D) DENIED
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11.

12.

13.

A
i aﬁgﬁzo%ﬁqqr§|

2% W%aﬁm{mm/

(A) A P oy s 8 (B) e P 2 STETHA

© qa}ﬁwﬁlaﬁﬂa"rﬁwzmxﬁ% (D) e e 1 SR AT R

Read the statements ang select the best coﬁ@ion/cmclusions that follows/follow the assumptions mag;

in the statements,

Statements : : g
L 'In a T20 cricket match, the total runs miide by a team were 120.
2. Outof these, 60 runs were made by spifiBkrs. y ’

Conclusions -

1. 20% of the team consists of spinners.
2. The middle order batsmen were spinners.

Y

(A) Both the Conclusions follow , (B) Only Conclusion 2 follows

(C) “Neither Conclusion 1 nor Conclusion 2 follows (D) Only Conclusion 1 follows
ﬁﬁ%%aﬁ@mwﬁnéw@rwﬁﬁ“ ‘«%; oy ot Gl
M%NF I RM, NHT g3 | ! + - q/ e
M@N#HIFEM, N aea2|_- 37 v P 1
M $ N T & M, N frard | % ' ‘\) o ol
et & & - g 1S, Q o1 frer & g 2 2 ‘ ‘ '

@) Qss@r F@Q%s ®  (© QsrPus D) Q@S %P
‘”Each of the following queStions pertains to the given information : :
M % N means M is the sonof N.

M @ N means M is the sister of N.
M $ N means M is the father of N. ; _
Which of the following represents the relationship "S is the father of "2

A) Q$S@p B) P@Q%S o ©) Q$P%S D) Q@S %P

"G", "A", "R", uNn’ "I", " T." MWW%&WWWWW@'
Find the word that can be formed using the leﬂérs "G", "A",/"R", "N", "I", "T",

(A) GRIND TRAN ) (© GEAR . (D) NIGHT..
Ay, det S ®w gy © ' D) )g=
Clouds are related to Rain in the same way as Air is related to : \ | _
(A) Cold (B) Warm (C) Wind (D) Dust

" AUT-24 ' Page 4 of 24
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14. ﬁqmmmqﬁ&‘“%ﬁ(ﬁﬂ%ﬁiﬁﬁﬂﬂﬂ@[

— e 3

&
L = foyan © .
A — s SR
e @ g \t)‘)/
T)'e‘ ‘;"a“'a‘ﬁﬁﬁﬁg ) ® %
(Examine the provided di (B. w4 ) © 13 (D) 17 \D(, 3
provided diagtam and respond to the following question. fy e
O — Errtlplo.yfd people & ,\/\ . d((b

D —> Backward people

A —> Educated peoplg

How many educated individuals are considered b§gkward ?

v 3 (B) 14 (C) 13 (D) 17

' @ﬁmﬁ,ﬁw‘w%glw%ﬁﬁsﬁmmwwﬁ%,zswﬁs%am-w%%%aﬂtwwﬁﬁ
&1 ST o HTSIR-O T § | 60 Iretral, 14 sBp Siireft i e Gt s = TR e 8, 15 3ATE
Tt S &lter Tt T SR o w0 v 8, (@t St 3 ST ST ST S 3 THTEICTA 9ed €,
3‘%,8a‘ii“ﬁm%mﬂﬂqﬁ%lmﬁa@éﬁa%ﬁww%w-wq@@/ '
In a survey, it was discovered that 21 individuals Tead English newspapers, 26 individuals read Hindi |
newspapers, and 29 individuals read Tegional language newspapers. Furthermore, 14 individuals read both = /.
English and Hindi newspapers, 15 individuals read both Hindi and regional language newspapers,
12 individuals read both English and regional language newspapers, and 8 individuals read all three types-.
of newspapers. How many people read only regional language newspapers ? \

(A) 10 (B) 12 .o 14 D) 8
16. qﬁﬁwmﬁﬁm/ o
| Find the missing number. ; £~ o P ]
13,1, 17,2, 21 : o ;
a) 9 : (B) 7 2 (@© 11 D) 52 7/9/
17. A @RI g) 7
Find the missing pattern. ® !
C22D, _, C6D4, C58D, C106D ‘ 5
(A) Ca3D (B) C2C3D ® () ccp? (D) C2C2D

18. afX alb=a—b, T T, p=6 3T g=4 E\ﬁtﬂ' p!qﬂ?@;@w% 7
If alb=a—b, what is the value of p!q if p=6 and q=4 ?

A 2 B’ 12 © 10 (D) 8
19. @ﬁfaﬁaﬁﬁmﬁﬁrﬁmi'ﬁm@ﬁmwﬁﬁaﬁmmﬁmm%wm ST

fifea srf 718 ? i ' b : @Kg

(A) TgrE o reAfir eEi RS T e et (B) i oo Y oTed s A guR AT g . i

(C) sty ugré oft Sa € FROR Bt & (D) Nerfvrr vegiv stfafia @ ;

A teacher tells her students, "Studying regularly leads to better academic performance." What is the

implied meaning of this statement ?

(A) Studying has no effect on academic performance (B) Regular study habits improve grades /)

(C) Irregular studying is equally effective (D) Academic performance is random il
AT --omgibemeemmbene T e gy~ 7%
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2 fagor 2 ks
20. @ﬁm%ﬁfmmfi|7:3%ag'mﬁqzaﬁtqﬁtﬁlwﬁ§?“m?‘w%m’m S N
) 5 ST 7 ¢ 1 st & 1 g e e g A sy P o 7 -4
@ 8 et (B) 6 efiet 4 frex (D)

i : . dition of some more milk 1,
litres of a mixture contains milk and water in the rats of 17 :3. /%Pf;ter :;haen?i‘:y o o fewas
it, the ratio of milk to water in the resulting mixture begpmes 7 2 1. The q

‘ . (D) 12 litres
(A) 8litres (B) 6 litres (@) 4 litres 34
) | T =maa 3
21, ST v i 200 Y a vk e A T 8,000 3 123 37&1?5) e 3 qam ,
S e s Rt fre & 7 ) % 8,000. What ;
\(’O A reduction of 20% in the price of rice enables a cus@tlner urchass 125 kg more for T 8,000. What

00 the original price of rice per kg ? %

29 (A) T16 (B) T12 115 L) 15 N '(MD) fM%nﬁrwa%m
20 9mﬁmm3o%lmsm%zs%sﬂtaﬁwsmﬁfm 35 ” .
)dr% 2 N % 270 is 25 and that of the Ia;

OW 1‘ lea The average of 9 numbers is 30. verage of the first 5 numbers 1S |

3 numbers is 35. What ig she 6" number ? -
5 @ 30 w0 © 50 e N
()/g23‘ A@TB@W f1400%,B3ﬂTC3ﬁ3ﬂ%mﬁ1$mf1560%3ﬁtA3ﬂ'{c
AT 1440 ]\ A C A mRs e 2 - A - ‘
O The average monthly income of A and B is ¥ 1400, thaf pf B and C is T 1560 and of A and C is T 1440. T
% monthly income of C is '

’
),;5 (A) %1500 (B) T 1400 ((g z1550 Py @ N 160@@%&5?
3)/£724. 42 3K 49 Y TrEATHY T AHT(LCM) 3 H.F.T(HCHGHT I H1 & @ A%y
Y

The LCM and HCF of the numbers 42 and 49 are in th€Jatio of ‘),9 9' : ?
- (A) 7:2 (B) 42:1 @ 2:7_ - D 5 .
\)\P 25. @Wmméﬂﬁ%g@%Oﬁgﬁ;@ﬁﬂﬁJ@ﬁmﬁw%ﬁ‘% ST
09150/98 HY 6 JH0S W IR HA B | Y IETIEY 1 AT T IEehT =1 Ji S |
0

15 (C) 200 Y, 50 ferei/eiar 360 w1, 216 fRHi/EeT

\ A train travelling at a uniform speed, clears’ a plafform 240 meters long in 10 seconds and passes
telegraph post in 6 seconds. Find the length of the train and its speed.

s
(’)V (A) 300 m, 180 km/hr 300 m, 150 km/hr «—f?m(jg 21
(C) 200 m, 50 km/hr

g —
360 m. 216 km/hr 3

&7 (A) 3007, 180 ffiyser ﬁ%ﬁo B) 30070, 150 FFfyeier Lﬁ; t{%’;
%

26. 90 ferei/eroer iy =mer & = W 35 Hie Sl Wwrmgt & T TP Y IR & H a1 693 TaT e ?
5 (A) 1.9 FUE (B) 1.4 qFvs 5 QFIS (D) 1.8 VTS
The time taken by a train 35 m long, running at 90 , in crossing an electric pole is
(A) 1.9 seconds (B) 1.4 seconds o S seconds - (D) 1.8 seconds

27. O B F oW el i STa 36 T 52 o SN AfeegwHeREl s Ed I T 42 o | AR FAid F
w A N fga Ja T 50 o, A Afeer EeiE s s ————ldw

Qf‘)/ The average salary of male employees in a firm was

52 and that of female employees was T42. If the
6 1 nean salary of the employees was T 50, what was the percentage of female employees ? '
50 ‘,‘(  20% (B) 88% ©) 30% (D) 86%
28. U4fe farsh Y 3‘5% Y TR 3%%mﬁmw%,a’rf4,2oo 3o e ATt g Wl aret safth 1 55
T G ST & ?

1 :
3 %, what difference does it make to a person who p

urchases &
0( “ article whose marked price is ¥ 4,200 ? @ o 0
\/ (A)__T_G ___________ X7 ©) %10 (D) T9 O “

- . - - . . - - - -

" \ If the sales tax be reduced from 3% % to 3
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29. P,Q “Sﬁ"ﬁ 7 %Wﬁﬁﬁmmm@:ﬁ’miﬁjmuﬁm p 3 arat It

# 50% 1 i A, ﬁ%ﬁQﬁmt}Sﬁﬁ

20%ﬁastﬁaﬁr|?ﬁ@aé€s:qaﬁ F QI
T 728,210 % Fo @ H Q
P, Q and R enter into a partnership by investing their capitals in the ratio of 2.3 % After
4 months, P increased his capltal by 50%, but Q decreased his capital by 20%. What 1sstheihare of Q in

tl;e tO;al profit of ¥ 28,210 at the end of a year ?
1
(A) %10, }40 (B) TI0075 4 (C) 783,200 (D) 97,500 AN
' A
30. f}i’“@aﬁfﬁﬁv‘q{@waﬂqﬁls 142 AR e Erde 5 5
(A; mlt:: o:’ cost pnge and selling price is 15}14, then the loss percent is /“’ 0 - .
il % (B), 40% @) (©) SWW (D) 6 (ke Y
i - 3p6e ? —35'5'55'“ LCM)S@WI | S vy ,U’ \ 5P
_FmdtheLCMof—- g,?"i | - LF '[$',)q
18 .
11 #0110 ' \_ : : \_/ D@
A) — gy 10} 10 13 |
4 (/) 4 ’ v‘ N 3 W D) 4" !
32. 231751()011(43&%1%1?2%9%3&#&%% aﬁrmeﬁﬁm A G 1§
: Cufa;e the simple interest.qn ¥ 37,500 at the rate of 2% per annum for 4 years. ' 29 S0 )ﬁ.
(A) T3500 3000 (C) T4000 (D) 5000 /6@
33. gzzmzswaﬁzlﬁ%ﬁ@m% a‘r%ﬁmﬁxzoonﬁaaﬁ’rmmmﬁlsﬁ# |
(A): 40 TSH, “(B) 48 TS i (C) 287 eH @ 60 TSH é 4_
If 72 boys can bu11d a wall of 280 m leng%m 21 days, how many boys would take 18 days to build a
similar type of wall of length 200 m ?' e \3 ;L
(A) 40 boys (B) 48 boys (C) 28 boys (D) 60boys
34, T AT ITehd T T 4% i T2 AT & TGP 15 el e o T A A 3T R 3R 39 Trd
35% ST €TV HATIT & | A T ST o ifohriess 7ot 7ot & foe Sfcrara A1 < | —E
A tradesman gives a 4% discount on the marked price and gives an article free for buymg every 15 articles g
and thus gains 35%. Find out by what percentage the marked prite is above the cost price. . M _ ﬂ
(A) 39.6% (B) 40.6% ©) 50% (D) 22% i \(7/30 - Qﬁ?
35 2ETIAN 1 HfEeT U AT Teh i &l 14 AT & o T wHhd € | 4 e Sf 2 oy e 38 8 fedt A R 0
a3 | af ueh qey B Ui T T 600 AEA T, a‘r@nﬁwaﬁqﬁrﬁqﬁﬁmﬁmm%w (P
2 men and 1 woman together can complete a piece of work in 14 days. 4 women and 2 men together can .
do it in 8 days. If 2 man gets T 600 per day, how much should a woman get pe
(A) T450 (B) T480 b (C) T360 = 400 10,
36. ﬁaﬁﬁ%maﬁﬁ@ﬂz%m@ﬁwmﬁmwﬁ@éaﬁﬁmﬁ af 60% e T | A ,éﬁo)@
g St o B o 20% o 7 AA S, ke o 7% T 8, Toe af @R TSR A S
T & fepeer afmTa ST @ 2 : ; A
A factory’s yearly budget for the purchase (ngmployees protection shoes increased by 60% this year over
last year. If the price of the shoes increased @ 20% this year, then the number of shoes it can purchase this é
year is what percent greater than the number of shoes it purchased last year ? é s
33% @ 1% g © % fegu WO e =3
TSI Page 7 of24 . ok 09)2‘
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37, @ﬁmﬁayaﬂtmﬂmams 2 & | aft g fyeror 3 10 @it T BT &, < gwenr s g 3€,aﬁr

2 1 g o wrtfores T T 2|
» 15 ehet (B) 11&he ©) 13 (D) 10z

: . ater to the mixture, ratio
The ratio of milk and water in a mixture is 3 : 7. If we add 10 litres of w. then the

becomes 1 : 3. Find the initial quantity of milk.
(A) 15 litres (B) 11 litres & (C) 13 litres v

a @ﬁrﬂﬁm@m@%mﬁwﬁﬁ)mdaﬁ%mnﬁm 700?f,___i3ﬂT 8 & o =@ T 1000 &
‘STl & | Y et TR faRart oft v S aaa

The amount of money appreciates to T 700 after @le
interest compounded annually. The initial amoun#bf money was

(D) 10 litres

ars and to T 1000 after 8 years at a certain compound

() T490 (B) T410 @ (€)' T430 00 (%)DTWO /D
3. mﬁ%ﬁm@@@meﬁﬁq: ~, 1o dn: t/-

Find the odd one from the following :
(A) 4096 (B) 4913 ro (C) 5832 Y°(ZD) 3380
40. ﬁﬂ%@ﬁmﬁmmmm/ ’ng I

- .. Find the next number in the following series :
220, 221, 229, 256,

B%i )
@A) 107 % 7] ® 280 - © 312 A32° éb 5
41. fawea, 1, Hlaﬁtwﬁ%aﬁaﬁwgﬁaﬁqaﬁ Xthr@TamTiJ/‘ :

Choose the correct mirror image from alternativegd, II, Il and IV if the mirror is kept at XY.

_ 7/%
AT

‘)’O
I I 111 @

@@‘@#@mﬁg@fz

i A) II (B) III o v - (D) I
42. iy o waftn o afeer STl AT o WTE & S H & 3 | 95 = g @ fora yerR Heifta @ 2.
p—ee
(A) it (B) 9T (C) =hisH (D) s
Sindhu introduces a man as the son of the@rother of her mother. How is the man related to
Sindhu ? - e _ ' _
(A) Nephew (B) Grandson ®) (©) Cousin (D) Son
43. THFT 65 km/hr T R =mer & a7 et 8, aF 198k &t 3 70 3 § I Rrar wm=r o 2
; —_— ==
‘32@: (B) 4w @© 5= (D) 2%
car travels at a constant speed of 65 km/hr, how long will it take to cover a distance of
195 km ?
(A) 3hr . (B) 4hr (C) Shr (D) 2hr
'&G’T’-i&"\"""""'"" """""""""""""""""""""""""""""""""" e
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44. IR “GREEN” &1 4&T e 49 &, @ “VIOLET” R
Seie &

If the number code for

“PINK”
(A) 45

@wéﬁwqﬁm%lméﬁéﬁqﬁm% |

T

is:

LV &l 797 64 vy ,
23 ., T

33

@ w=a, a7, mﬁt@,w@ﬁq@@%uﬁmaﬁnmmﬁﬁwm@m% L m
S, s 3R AT | e

95) 60 (D)

>

“PINK” ¥ TTeaT FIet & sfie o1 S HTE ?
6
«GREEN?” is 49, then the difference between the number codes of “VIOLET” and

55

- T
W

mmﬁ%léﬁmaﬂtmaﬁ@m@mm ®
mﬁmﬁﬁﬂ#wwm%?

/(125 A9 - Fal, I — T, T -
ﬂqwaﬁaﬂaméth%ﬁw

3 A _ ST, S — Sheie
¥ _ twae, S A, QH et
Wﬁ%ﬁqﬁa‘tﬁ,‘am%?

A) 133

4.

Three children, Sam, John and Ann, are eating icecre

, T -l

1/(B) 23R3

®
@

(C) 334 (D)

flavours, namely Chocolate, Strawberry, Butterscotc And Vanilla.

Sam does not eat Vanilla. John does not eat Stra

Butterscotch are not eaten together. Vanilla and Chodolate are eaten together.
Who eats what flavour from the available options ?
1. Sam — Strawberry, John — Butterscotch, Ann — Chocolate
2.  Sam - Strawberry, John — Chocolate, Ann — Vanilla
3 Sam — Butterscotch, John -- Chocolate, Ann — dithwberry
4. Sam- _Chocolate, John — Vamlla Ann — Straw
(' Which of the above could be correct ?

l?erry Ann never eats Butterscotch Chocolate and} 575

QY
/&7

anf%mﬂqﬁ@?ﬁlmaﬁrwwmﬁ

Rzl

awl s
& a1
cAli

it
/
s T G4l
/‘ll 9 Qée,

@5\ /q‘\

(A)! 1and3 (B) 2and3 i (C) 3and4 (D) 2 and 4
| [ . 87, "‘\ i /!
46. aganasﬁgﬁnmﬁwaw@ﬁro()m%/ _ S FCge “.-,,»,{.
Choose the figure in which the question figure (X) is embedded. N C Y. -0
) % - Gl N A g) o
X) ‘1. oA -1 v e
(4) I | ®) II -

47, ﬁq%ﬁgag@wﬁanwﬁmmaﬁﬁm

Find the next number in the following series :

140, 120,99, 50, .
B) 10

A) 20

I°D '50 —q

Xf]'-l‘_-ii --------------------------------- Page 9 of 24
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_Each child eats a different flavour from available Qf
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48. sj@aTIfJNR__ﬁ,Wﬂ'WW-Wm?/ _ e

In the seriess FINR __ which letter comes next ?

®B) S © U
V a0
49, Trefefad A 8 ST RTACME? f}% 5 %
What comes next in the following sequence 7g3) (2 / 3 ' , &

T L’]}/

S
-

G
B,CE,QG, ®

. .(, - . M . : /\ I K
F ok ® 7 g /@% &
50. ?ﬁﬂs‘a{@wﬁmmﬁml : ey Q
Fmd the next one in the given series. % Y Y
s SfEa ; | i3 W%
: ~ Given series : \ )(%)( -
/ al %
OO W 7
N VY e @ § ‘ |
Sl GO =0
9 P 63 3
ey s ‘ﬁﬁmﬁﬁﬁ@#mmml @ s
i Find out the number of triangles in the given figure. 5 [ 9.
: \ TS . T
e T4 & gs6
78
{}
® 10 g © 20 D) 12
52. st 6 forama o feem e (@) 2 © A l
How many rWe there in the chessb%d ? 7
q

(©) 1298 (D) 1000




@

54.

55.

36.

3.

'<A) I % ©

AP A A ?
ﬁﬁ%mﬁmm

Find out the next figure in the above series from the options.

P

st
I D)1
= few o foi 1 e Ao, — o
Study the figures given below : g
~ )

K 2K apk JpN. Ak )

A3 R e Rt i & e For i < s R e et <6 o v 3 R wed

From the figures given below, choose the figure that will be most suitable to continue the pattern given

- above :

| - | BS
3/ lellellalld
g (D v v e v
A 1 (B) 1II (C©) W D) I
RRESRINAE g '
TSl : TARS :: 7S :
(A) ST (TF) (B) ¥ (C) HRsh (D) &&=
Complete the analogy :
Fish : Gills :: Human : s '
(A) Liver (B) Lungs © _ Brain (D) Heart
frferRa 7 & vl & -8 SIS o1 # Hed Jfereh ¥ & ?
(A) T — ST (B) Sar— T (C) - AT — e (D) WY — (&
Which of the followﬁlg pairs of words are > most similar in némng ? -
(A) Stop-Go (B) High—Low (®) C‘% — Smile (D) Start — Begin
WS U Y I S YR (39) F FHHIR Th q0ae T ST &, AR 70 M (e
TSAATR, ?ﬁqﬁmﬁm@xm@m@\wmmmw% ————(Tf Eﬁ
)  sfaEe™ (B) waad © T (D) ST

When a cone is sliced by a plane parallel to its base, but nqgpassing through ifs apex, what is the shape of
the resulting cross-section ?

(A) Hyperbola (B) Parabola (C) Circle ' (D) Ellipse
“TE T JAHIH IR - 2 —
A ™ (B) =T (©) 7 (D) fremT



A

59. AR H wAEaTei TR @
A) 3 (B) =T (C) wmwaTH D) T
60.  HTAT I 1 7, 6 T W T ¥
T T HAHT ST 3, T T TR |
AR T FTAT STEFR D 2
w I (B) 3yHT ©)\TF . YP) T
61. “foReft <t wrETIAT A AT W fU TH IR R
(A) W&sT (B) HEN (C) TEHK  {tD) weEH
62. ToRe TR o 0T e T T TR 2 ®
(A) AT ¥ fore @ e | W | ®) wHTEmatyl
(©) wryaitfrwnhy & g e 2| (D) & T Hiar h
63. I vro wr wet SRy Rrede Qo — ' ®
(A) 3=+ fea (B) =R+l (C) 3+ i (D) 3= +ffeq
64. %ﬁaﬁaw@ﬁaﬁtﬁaaﬁmwmm?ﬁaaﬁﬁmw%?
(A) wTEs _ (B) deIcht
(© =78 e e v 35 o (D) TSI EHERfT
65. Ty fFa @ HI Rt yE 9 ‘
| (A) I B) Uz () 4K {lD) v’
66. Te=iH W FagaER: & ,
(A) TaIA (B) sHEd (C) Twdm c ) &
67. R T % o o g R :
(A) RE=erm ® frsse ©) Rgem %’D) T
68. T —HIa’ T 1 Wt forehew AT
(A) IRT—7m (B) WHFT— e (C) eI —get (D) SF- fa
69. “3feT — 3T Toq-I T W AR .
(A) TTEH - (B) wEt -« (C) i —awh (D) oI — wwEm
70. T GG S & I A BAFLITAE ? '
(A) wHareT wTEET= () TramErer D) Far=a
71.  fr=fafas # @ S-a1 e qeaw 7&T ® 2 eq”?%?
-_— Dl ™
(A) T (B) &m © = 3‘ D) ®
72. Eifehd Tl Tfaeenfid F 3 A Iuh forehe w1 s v | ®
AR R S 3
(A) HETS A FTATHA B FDT AT (B) mﬁﬁa@gﬁm% s
(C) HE&d St =h! TeaTa T 3T=TJH 2 (D) W& St ey fw?zﬂsﬂﬁ
73. Fefafead yeawad: —
(A) ﬁm&ﬁwﬁsﬁmqﬁﬁwmﬁ%m (B) mﬁm&rmﬁm/ p
(©) @&mwﬁﬁﬁwqﬁﬁml (D) mmﬂ%ﬁq%wﬁwn 5’( jif
.&ffr'-ii""""'""'""""""""'"""Fa"gé'fz'afii """""""""""""""""""""""



L, =
) T@E T (B) SIS T © TR /@ S
gy WWWW%: _
, (A) T B) ¥y ) wren (D) *E
5 ST R R 8, e v -
- @ fem (B) frm | ©) Frnfa@wsr (D) AW
() ShasEr B FREIA (C) ST (D) FrRETEAT

T FHT I T ®

(A) T (B) Af=sr 4 €) = - @ o

fergT <hT EHifeiT ST | ®

@) fgh ® g (© W v, (D) TR

g S form fog emd
&y aﬁ%’__agaa?%#mm%l
] (A) @D ' 3B) (?) © ) NED

; 2020 T TS TTEHR fohd TR St feam m 2

(A) givaca e (B) dembrgEw 0 (C) FomaEd (D) firamE oy
g, 9 ot ol 3 oft el B o
1 (A s e g (B sifreasivers e
- (© (wmEfEEr, ® (D) @i fora
. St s e o 8
s s (B S g L) fe& (D) “&Fd
W, omefekar G FeEERd: @ T

(A) ST E (B) THeix T

© @R (D) et e feadt

Ei?ﬁqmﬁm}ﬁﬁaﬁqmsﬁmmﬁmﬁaﬁ%v/
3 (B) 33 Q

8. e dr e frae FeT HA e ? ® B
(C) GhEm=AT | - (D) wewd aut

(A) e (B) T :"@"
B, s % srierelf wrdt i Pttt & & Fgg) T ¥R 7 I
A) e, (B) zid ® -© ﬁé’g (D) STE—
B agrt s ® <
&) W ®) (©) s D) w=H
s ST YT PagedB 0l 24 L L e T



W. 9. 907 94 Terier U : - S g
TISINTST 557 37e} T T ToT S wTeT R | @8 Tt TG 7Rk A7 YT T T
%WG{T{E@/‘E|ﬁ%%@%@%l@@mﬂﬁfﬂﬂ%lmﬂmmmqﬁ$
ST e &1 i S W ST o e ey el ed-# | T ks Wﬁ%l :
Qe 781 Mt B T 2, FIH 9 ST 391 Y ot & Hehd! 8 | ﬁﬁ?ﬁ?@w_ﬁ_mvwé  of %ﬁ mﬁflﬁﬁﬁﬁ o
mfﬁm%aﬁm%wr?é?ﬁﬂ%a%l14W,1949§1_@,WE@__%§ W‘T@g AR
%l’iw‘%maﬁumlzo%aﬁﬁ‘mw%ﬁ%ﬁﬁmﬂaﬁﬁﬁﬁmméltrmzlo%awarﬁ_ s Wﬁé’raﬂr
mﬁmﬁ-mﬁmﬁmm%ﬁﬁmﬁﬂsﬁﬁmﬁhmélmiw/i%ﬁ
%ﬁmaﬁlmmimﬁﬁ‘%ﬁ?‘mﬁ%ﬁmm%lm344ﬁmﬁ

= vTST 6T TN A F & R R TR | (@),

90. Waﬁz%mﬁ%ﬂwmwﬂﬁ?
(a) = v ) AR TR
(C) af&or st wTeT o ) et aft TSt W

o1,  for Tl ST <t Fyeg s Y ST AT R 7
(A) TSt ©(B) TRl c) =

92.  TINT I WG T & & T § FIA-AN FTENAL € ? . |
© o (A) UM SH AR (B)’ H&émaﬁrm%mm
. (© Wﬁwwmwi (D) «%ﬂ@ﬂﬁﬁ‘aﬁw%
93. it st Y sTTeefer wrer # o o I W EE ® |
(A) 1948 B) 1949 - o JE1950 e
94, vH TSI F P H A SRR IRl £ :})‘6{
» @) ST

(A) eI ATST

(C) SA=Te Sl 9T | . D) TSI ST
95. ST i STTE HEAT T T : c9, qgfg)ZQ i 19
Find the next number in the series :_ _ () ¢
sna3,2015 . 4. ®l |
A) 1 (B) 2 T (©) 3 D) 0

96. oI A, B 3 C e T e & <RI ST e YE A & ST FHH: 24 FeHUS, 36 HUS AN 30
| Y i U FER QU A € | T fire 3 ae 3 v foig e e e 2
A) 5fre (B) 6fFe , (C) 8fime (D) 12 e
Three friends A, B and C start running around a circular stadium and complete a single round in 24
seconds, 36 seconds and 30 seconds, respectively. é}‘ter how many minutes will they meet again at the

starting point ? J
(A) 5 minutes (B) 6 minutes ) 8 minutes (D) 12 minutes

97. @wa@ﬁmmw%ﬁmﬁmiﬁw%mﬁ%ﬁaﬂaﬁmm 10 3 ST

T gt 2 H:

(A) 4099 37K 44 @ 3299336 i\//g

(C) 44adfT4gad @) 369 AR 4099 :

%at are the current ages of Antony and Betty if tif@r ages are in the ratio 8 : 9 now and will be in the

ratio 9 : 10 four years from now ? /—\

(A) 40 years and 44 years B) 32

years and 36 years

L E(_?}__é}:i_y-e_a.rf _amd_48 years (D) 36 years and 40 ye ’8 \ ' ‘
AUT-24 T TPagetdof2a T I TTTTTTTTTTTTT
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o

7

o, ettt T 5 R e T 6 i el g
@ @t B) HawirE O == (D) =

Which chart type is used to represent the qf}iationship?b'etween two variab!es_ ?
(A) Line Chart (B) Scatter Plof} (C) BarChart ~ (D) Pie Chart e
25" g e Y P
0. mmmwﬁﬁw%mﬁw oh g
ﬁaﬁgﬁaﬁﬁwmﬁmﬁﬂéﬁf@wﬁ ﬁa@réwzaﬁﬁ) s 4
- Er e —) \\05/, \'(’;
4AH | 7AH | 32AH | 35AH | 55AH | 3 5)4 (,0 ¢ %
1992 | 75 | 144 | 114 | 102 | 108 | 543 f)b L° ¢
1993 | 90 | 126 | 102 | 84 | 126 |528 b 7 0 Q/
1994 | 96 | 114 |. 75 | 105 | 135, |525 90 4 %9() /[/

[ 1995 | 105 | 90 ['150 |' 90 |L¥5 | 510 _5 D
1996 | 90 | 75 | 135 | 75 |v®0 | 465 g » L

1997 | 105 60 165 45 20 | 495

1998 | 115 |- 85--| 160 | 100 |45 | 605 _ v &
& . |
T st i e el 1 oot feshl W B e 2 | | % 6 %
(4) SAH (B) 35AH (C) 55AH (D) 7AH Wt Or,o
T o)a G
The following table gives the sales of batteries manufjactured by a’company over the years. , 0
Number of different types of batteries sold by: a-company over the years (numbers in thousands), % 5
Types of Batteries ,,
Year or ; j
4AH | 7AH | 32AH | 35AH | 56AH | Total R e
1992 | 75 | 144 | 114 | 102 | Jp8 | 543 (075 .
1003 | 00 | 126 | 102 | 84 | $6 | 528 | R 6»
1994 | 96 | 114 | 75 | 105 | @5 | 525 , [3 S
1995 | 105 | 90 | 150 | 90 | @5 | 510 i Y5
() i O
1996 | 90 | 75 | 135 75 90 | 465 0 O
1997 | 105 | 60 | 165 | 45 | 120 | 495 ' L 1 (
1998 | 115 | 85 | 160 | 100 | 145 | 605 _ \ Q
Which battei-;l, has the lowest total sales across all seven years ?
(A) 4AH (B) 35AH (C) 55AH (D) 7AH
e 7 LT




00 .aﬁ'M+Namanf%M,N£rm%.l 1

102.

103.

M-NF o &M, NFT R
M x N 2 M, N A& R
a}ﬁm%mﬁﬁm-mmmim%ﬁska&aﬁxam%ﬂgw%?
(D) XXZ+Y

) YXZ+X W (G)I,sz—v
If M + N means M is thd sister of N. ‘)/

44
|2
M - N means M is the brother of N. '{i* 2
M X N'means M is the daughter of N. ©) .
2 ’ der is male ?
which of the following shows the relation that X is the aternal uncle of Y, where X’s g6 e
\ ' (D) XXZ+Y

(A) YXZ+X B) L ZX XY (dgxxz—Y )
P,mei%,a‘mﬁam%ls,Tmﬂﬁ%aﬂtT,Qzﬁ:xy?%m,Qaﬁqmaa%%?

A) \TéﬁGT (B) == © = ® How is S related
P is the brother of Q, wha'is the sister of R. S is the brother of T and T is the mother of Q- Ho

toQ? ; ;

(A) Nephew (B) Uncle (C) Aunt (D), Niece

' 21,12 %
qf%IUNE—>10-21-14-5,a°rJULYé11T/ (Q}j I

If JUNE — 10 - 21 - 14 - 5 #ken JULY will be <!

(A) 10-8-23-25 0.21-12-25  (CE14-12-8-10 (D) 10-21-8-23
Rl 9w oS ik 30 3 e 1 g P e A1 <7
[ PaFER? | B i

(A) IaafEm B) G (Peforam O gl

oints towards. which

104.

105.

106.

'For a clock with o hour hand pointing towards the &

st, the hour hand at 1:30 p

direction ? B e
(A) North-West @) NohnEalle  (©) Sout-Wes

ﬁ@nﬁaﬂ,ﬁmﬁ@%mﬁ%mm%ﬁsﬁwﬁwwaﬁ%ﬁm
‘ il s ey 40,

D) South-East

ST : T ‘
(A) I (B) A T©) T RO R

If Sunday is coded as January, Tuesday as March, Thurﬁay as May, then Saturday will be coded as :
(o) August - (B apil (Ch July ; (D) June

erg T Gt 2 et s 2 SR AR T de e o & R R 2

(A) feufa (B) (G ame © (D) "ERET
"Clock" is related to wTime" in the same way as "Map" IS related to which of the following ?

(A) Location (B) Travel (CV’-- Vehicle (D) Cartography

e wfor 2 & e & e o @ e e 26 s R ot & Qe gt A o 8 AT
(A) @SR @®) drwdTET ’

C) wfr# B . (D) foreget wfor T <

If Mani is taller than Tony but shorter than De b »
then Mohan is eepak and Tony is just as tall as Mohan but taller than Gokul
(A) Shorter than T < E‘ e
© Shorter than Mani 9 Jplict than Blepals A

: (D) Just as tall as Mani T-m

- - -
- -
- - - -
- -
-
- -
- .-
- -
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107. FETTREE & svemm ey AR e—"

Find the dissimilar number from the following :
16, 256, 64;1624,1024
(A) 1024 ~ (B) 256 (C) 64 (D) 624
108. F=fRea § & avamm v g Hiftg &

Find the dissimilar number from the following : {}

1331, 2197, 4913, 5832, 6859_- 9
(A) 1331 ®) 2197 EC) 6859 (D) 5832
109, SR TR < e 1009@@@%#%@@3«%@31%31&% 3
(A) 7= (B) Ifre €c) =g S (D) U
The renowned mathematician known for discovering the sum of the first. 100 natural numbers is
(A) Gauss (B) Euclid (C) Newton (D) Pythagoras -
i 30 Zg-
110. FFTTREa F 3 545 x 545 — 125 x 125 T ARG FTR? ' 19 g 52.$
Which of the following is the output of 545 X 545 — 125 X 125 ? 1/4,0@/
(A) 285400 281400 (C) 287500 D) 2865007~ |
111. A,B,CIRDFHHFEATARE| A, C 3B, D"%W%I D, c%arﬁaﬂt%mggqﬁaﬁaﬂt%lﬁ’r
- D=HsfRmamd? }‘
@A) R (B) W ‘5 ) ufEm O
A, B, C and D are playing a game of Carrom. A€ and B, D are partners. D is to the left of C who is
*facing east. Then D is facing : 1))
(A) South (B) North @QC) West (D) East | - \

@ﬁn&f@amﬁ %%Qaﬂtw%ﬂ%ﬁqmwmwé’rﬁm >Uu 8>H—*9/bﬂ'),
CS1%E721!1@*#@AT1* #>8Ux> B"ﬂ '3
& ST 1 gEU | T ST &, Y forart TETeTt % a| o smar 22 — %

,(D) 14 b 21

Aa) 0 B) 2 © 3

Observe the following series carefully and answer the quéstion that follows.
C$1%E721'@I*#@A7* #>8U>

How many numbers are followed by an alphabet if ﬂie second half of the series is reversed ? (L

-t

A o B) 2 (o) 3 D) 1
113, mzolsﬁmmﬁm%maﬁqﬁfﬁ@ﬁ)ﬁ - HIEFE

India’s Gross Domestic Product (GDP) grew by s in the quarter ending September

(A) 8.0% (B) 8.5% CQSF) 9.0% (D) 7.3% ﬁ
114, mmmﬁmmﬁmﬁwﬁ 3, @ : =

?j) 4 fiFz 25 A0S @33) 6 fome 15 Qv

(C) 8T 20 T (D) 2 e 30 FFvS

The light from the Sun reaches the Earth in about how much time ?

(A) 4 minutes 25 seconds ®B) 6 m?nutes 15 seconds
(C) 8 minutes 20 seconds (D) 2 minutes 30 seconds

-AUT-24




(
115 e SRR T ) et ST AT ST T § | 276 St P 2 3 A R AT & 2
¢ (A) Wﬁﬂm (B) TS
4 (C) St ferar (D) s T SRR

The Indian Constitution provides for a parliamentary system of government. This system is based on the
i N model of which country ?
% ‘ (A) United Kingdom B) Canada

. (C) Australia dD) United States of America
116. MPC 1 i & 2 | '
S (A T e e b . @By AT EE HE
© WelwmmEtE gm et dif H
~ The full form of MPC is )
(A) Money Policy Committee @B) Making Price Committee
(C) Monetary Price Committee (D) Monetary Policy Committee
~117. ﬁwﬁzrﬁwﬁaﬁwﬁa%? _
C(A), SR ¥ REr . (B) WeE® IR
) 1 %E:b) g Ea & Fam ' ' (D) TEHd AT
e book Vinaya Pitaka is related to: ' :
(A) Thoughts of Zoroaster J {ﬁB) Preachings of Mahavira
(C) Rules of the Buddhist Sangha {:'II‘D) Sanskrit Grammar
: 118. GDP T 5 VT St ST e 36 R -8 ATligTe e E 2
z (A) o e ; @EB) T wifereh! wEied (NSO)
(C) wrha wfefer aﬂtﬁﬁmaﬁ—s‘ (SEBI) @D) T e s (RBI)
) / Which Indian organization is responsible for calculgjng and releasing the GDP data ?
g - (8) Mlmstry of Finance ® (B) National Statistical Office NSO)
© {Securities ‘and fochange Board of India (SEBI) (D) Reserve Bank,of Indla (RBI)
119, ‘e e v T g s e w87
(A') fade=R™  (B) o Lt - S (o) wﬁ@r{a@a@ﬁr (D) =R A
Which Russian author is famous for writing the psychological novel “Crime and Punishment” ?
~(A) Leo Tolstoy (B) ‘Anton Chekhov (C) Fyodor Dostoevsky (D) Vladimir Nabokov
“ ' 120. TSI Y T FATE ? -v g
< (A) wEAG (B) #&H 0 St (D) s
¢ What is the capital of Laos ? ®) )
3 (A) Kathmandu (B) Muscat #4(C) Lima " (D) Vientiane
121. ﬂ?mwn@ﬁwaﬂvﬁf@mﬁﬁm%%ﬁtﬁm% ?
Oy (A) frg =R ETS (WTO) &P SR TR A (IMF)
¢l © ami@ﬁqa:rém (BIS) (D) fu ¥
Which orgamzatlon is responsible for smooth and predictable trading across the nations ?
(A) World Trade Organization (WTO) (B) International Monetary Fund (IMF)
(C) Bank for International Settlements (BIS) (D) World Bank
T
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122.
123.

124.

125.

126. €&H

127.

128.

129,

ST 3 HYeTEeT S W SEd TR /
What is the GST rate on mobile phones in India ?
A) 5% (B) 12%
et aiteg 7 fora wee € 2

How many members are thgre in GST Council
(A) 30 /8 33
FTET T & ST TR ?

(A) T GHEIT T =TT HAT -

(C) T o TR AT
What is the first step of research ?

(A) Selecting a problem
(C) Identifying a problem

1saﬁﬁmm%wﬁﬁ%wqmanﬁmt

eee#euRV

© 18% (D) 0%
(©) 40 (D) 25
(B) T GG .

(D) TS G GIST

(B) Finding 2 problem
(D) Searching 2 prpblem |
FEAW 8 |

(A) ST IRERR (B) T ferpr

All human rights of a person below the age of léjilears are known as

(A) Child Rights (B) Special Rights

e fRems e g o TS oft 2 ®
(A) = 2004 (B) walt2004
When was Micro Irrigation launched ? ®
(A) March 2004 (B) January 2004 (@)
Arerer Hifgar @ A w2
@) ZTES ® I

- (C) aﬁéaeu%-'

(C) T AR (D)‘Wm; .

(C) Legal nghts (D) Human Rights

(C) R 2006 (D) AT 2002

(C) January 2006 (D) March 2002

(D) L o TH A

What does the acronym ‘TBT’ stand for on social media ? e . )
(A) True Blue Tuesday (B) Today’s Best Thing (C) Throwback Thursday (D) Text Back Time

CRISPR-Cas9 ﬁ@ﬁ@ﬁwmw&mm ,
(A) S o1 HuTeT 2
(C) 379 =T aat Tl &
The CRISPR-Cas9 technology is used for : ®
‘(A) Editing genes g

(C) Detecting earthquakes
U@wagfrﬁawzom’mﬁweﬂmw%? @
(A) e e T ; FETIR.

©) i fftim 3 fore 7 shrenfiferat

What is the theme of ‘National Maritime Day 2024 ?

(A) Navigating the Future : Safety First
(C) New technologies for greener shipping

B
(B) qﬁwmﬁm‘rma%wr
(D) & T

(B) Synthesizing new materials
(D) Creating vaccines

(B) waa T
(D) Tftr & svga swre

(B) Sustainable Shlppmg

. (D) Amrit Kaal in shipping

o



130. “ﬁm(ﬁﬁmmwg@ww%? TR
(A) SEr=mT e ¥ g
" (B) Wcﬁamﬁ%mﬁaﬁtﬁwﬁw@mtaaiﬁ%%q

@ ifa e g s o &

Y Y st e o e
What is the main goal of a pre-trial conference 2:) i
(A) To conduct j Jury selection @)

(B) To prepare for trial and discuss settlemenggyptions
© To render a final verdict
(D) To dismiss the case

131. ﬁwm%ﬁmmmm%w&w&aﬁm SeffeT T, ST

0 AT TRt 3= o AR T T ER R |
(A) T (B) e = (©) Srfee wré e (D) WIE-EER
is the act of intimidating, harassmght, defaming, or any other form of ‘mental degradation

through the use of electronic means or modes si¢h as social media. .
(A) Cryptojacking  (B) Identity theft @ (C) Credit card fraud (D) Cyberbullying

132, sror i 3P oottt it 23 3 s el (o) i e o 7
(A) T8 FU IR STEI Avren o6 A SR AIGRTTR |- n T
(B) ¥ AT, ScuTaehaT i 31fer forenra ot SRa T & | '
(C) == Afkes anfep it o B T ® |
(D) I T+t AT it wfoefid wars |

What is the role of artificial intelligence (AI) in shaping future global economies ?
(A) ' It widens the gap between skilled and unskilled workers.
(B) It drives innovation, productivity and ecoegrmc growth.

(C) Itregulates global economic slowdown. {} | —

il

(D) TItreplaces all human jobs. {},
133. Wﬁmw%mﬁmwmu@mm
A) w1 (B) SRSl @ - (C) TEHeEE (D) SHRor
The first successful instance of Satyagraha led oy Mahatma Gandhi in India was :
(A) Kheda (B) Bardoli - (C) Ahmedabad (D) Champaran
134. VR BIG! iete fordh S/aer § J[& foa o 2
a) frafiem , s (B) Grf%mamrammﬂ
(€) TS _ (D) WEFHFHLH .
The Quit India Movement was launched in response to :
(A) The Cripps Mission (B) The Jallianwala Bagh massacre
(C) The Rowlatt Act : (D) The Simon Commission




135. mfﬁﬂﬁwaﬁmmﬁ%amwasmaﬂtwm%%ﬁ,mﬁmﬁﬁ T U

(8) =332 (B) 3Tg=aa3 ©) a4 @ Rl

i . . . . i
:Vh cc}; Amcle of the Indian Constitution provides for the formation of new states girich SlfeTaNon. oL aras,
oundaries or names of existing states ?

(A) Article 2 (B) Article 3 (C) Article 4 (D) Article 1
136. TﬁWﬁvﬁﬁﬁwéﬁﬁmwaﬁmﬁaﬂmﬁﬁﬁm&%—WWW%'
1(zaz>i - B i ©) T @
Crops are sown in winter from Oc@(ber to December and harvested in summer from April to
(A) June (B) May % ©) Tuly (D) August
137. TAE TS gET T W Ry O
(A) i e i P s ©

- B) Tocfrr s fifvafig s o
(©) StrawaTe-forielt it stumtor- R sifimm ST
(D) ATIET UTT T HT TSAGTFET
What is the purpose of the National Security Guard in India ?
(A) To oversee border security
(B) To regulate the financial market '
(C) To conduct counter-terrorism and antj-hijacking operations.
(D) To manage disaster relief operations - 4

138. ﬁﬂﬁf@ﬁﬁ@ffﬁmwﬁn@m%aﬁﬂg{gﬁ%mﬁtﬁmﬁ T A
(A) TR TESEEEE (B) WM ) (C) T (D) e HAEEES

Which of the following substances is primazily responsible for acid rain ?
(A) Sulphur dioxide (B) Methane @ (C) Nitrogen gas (D) Carbon monoxide
139. IF-ET 3 TaT Srstt b GIAT oh Hordl 1T SR & 2 S |
(A) S (B) A @) (C) afiror amshieRt (D) =
Which country is the world’s largest producer of wind power ? : ’
(A) Germany (B) Bhutan (C) South Africa (D) China -
140. W o IYUAT 4 & (ST 2024 ) ? iayegrauie il e D
(A) it A, T staTd (B) o JFTAEg = MO f
(C) it ediex wa= - (D) o S TS
Who is the Vice President of India (as of Jupe 2024) ? s,
(A) Sh. M. Hamid Ansari ‘t;f (B) Shri M. Venkaiah Naidu
(C) Shri Dharmendra Pradhan i (D) Shri Jagdeep Dhankhar

141. 2016 & samERa W—mea%ﬁ%maiWW% ?
@ -

(B) RHTV-HH & Shi T g
(C) T BRrIRY 61 Y forrd
(D) 578 o e, S e sif e R e

What is the purpose of t
(A) Ban on nuclear energy usage
(B) Establishment of a nuclear-free zone

(C) Joint development of nuclear weapons

(D) Cooperation in civilian nuclear energy, technology transfer and safety standards




142. Torelt 83 % siag : :
I ATET ST Y ATATATEY Y T AT S () T

1(\‘2) IR (B) S ©) RrFEw
ovement of people in and out of an area is called : ! ioration
(A) Death rate (B;)u Birth rate (C) Growth rate (D) Migra
143. e qRe Rrafremerr (AMU) 2 wormaar R o obr T oft 2
In which year was Aligarh Muslim University (AMU) set up ? 0
A) 1877 (B) 1875 (©) 1901 ()] 1923"?”%?
144. meaﬁ?-mw%aaﬂtﬁ@ﬁwaﬁﬁﬁﬁmq@ﬁwm%mm
(4) Vel (B) SHATTUST ©) {? M3 - : 1€D-) in Hindi and Sanskrit
Which city in Uttar Pradesh is known for its educationdl, institutions specializing
languages ? ® '
; Lucknow
(A) Varanasi (B) Prayagraj (C) SKanpur @) ol .
145. m.mmmwmﬁmmmm%nmm%ﬂml”ﬁ T
ST R e o @ et &
A) FERWER () T © wmE i O T e
Which Indian economist is known for his work on welfare economics and received the Nobel Frize in
Economic Sciencesin 1998 2 . g et S
(A) Jagdish Bhagwati (B) Manmohan Singh - (C) Raghuram Rajan (D) Amaﬁya o
146. I R dmwm IR e ' e .
(A) ufirel s ®) Sethme  (C) {EhER (D) e 3=
Which author wrote “Jane Eyre” ? ] 13
(A) Emily Bronte (B) George Eliot (C) ¢Anne Bronte (D) Charlotte Bronte
147. X TH T TG SR HE R | g ‘
A |« (B) = (C) @It o (D) qHEHeH
Twitter is a ‘ based communication platform. © i ‘
(A) Email ~ _ (B) Chat ©) B1p ' (D) SMS
148, I g o for a7 6 ATy WIS HET R ?
A) == RUERSIC IR - (C) divTeRT (D) W=
India shares the Lipulekh Pass with which country 7 :
(A) China (B) Pakistan ‘ (C)- Bangladesh (D) Nepal
149, ST i # - TRT HT ITANT Rt ST @ 2 &
A) o ®) ffe (O & o)W
Which currency is in use in South Korea ? b
(A) Won ~ (B) Ringgit (C) @uan (D) Yen
150. W%W%mﬁmmmmﬁmémﬁmy
(A) TEIR (B) HITa (C) @R D)
attack is where a computer system or netw. k® i i .
(A) Hardware (B) Malware (c(:))r fh{n}f}?ﬂed with a computer virus.
1Shing (D) Software



